EARAROBEEIERT — 2 N— IBISH —F

201312828 (A) om#iE1H

m/\7°/¥§ C1C2 5%

‘ [R1%] & ‘ [RERBE] — | & (£) 12000 B

[A&E£] 17 :1,200,000  ~ 23 :360,000 37&:216,000 3

4 75 144,000 B 5 3& :120,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
— EBH :13. -1- . — HIES (HE)
ilslg|71—1 i 3 = 1(1_3)7 1-1-1 | 37.9 4 (4_634) EEe =
LTAYAARZ BANLES RTERZ =l &
LA F ft 3 | WHEX 1:13.8 3-2-2 |37.7| — 2 501 | Wi (Ants)
2|56 | ¥ELNT 55.0 @/d) o | WEn%
L:T7HAFALANEK B4 LFI 2HIT7— I
3,3 i 4 | BEY 1:14.3 8-7-6 [37.5| — 3 463 | EMAE (AT
3079l 77 ¥%1 b 55.0 @ 1/2) L5 |EEHE
xR TAANAIN B R =R NEZY b 2R s
N I S B 6 | WTFEZ 1:14.6 6-6-5 |38.0| — 6 481 | HiHEE (fe4R)
] 3|A-UrIATST 55.0 (1 1/2) (45) ()" J P NHH
x> THANAN B:70-L 2R FRBE%S
_ 43 | EEEE 1:14.6 434 [38.4| — 1 441 | BHEB (1B1B)
517110 IW—Aq 55.0 (74%) (+3) HBREEAD ;
L:iAvANA)— BixTv 714> TS
S S, =P RER 14, -11- . — 1R (MiE)
6 7 A S, 4 6 55_0? 1(11/42)7 1-11-11 | 371 8 (4:3; L
AR Y4 —7 B:O-XLT o RSt LEIU TP —L
TR FERIAH 14, -12- . - HEREE (AFE)
7lgl11| Vs Ky it 4 =a 17111:)7 12-12-12 | 37.0 7 <4+677) el
R:TH—FAFAF =YL BFARA by TLF 1 R TE
S, ug 4 : -3~ — ETEHA (g
8l 11 {2 HFr—F 4t 3 et 17111:)7 26K 38.5 10 (4:4) E Em &
R:T772RUILT Bik—-U—91>7 kR4t
s g N P B FI 2 114, -9 . - REAH (WE)
N . BBZEPASS 3 i 11\;)7 7-9-8 | 37.6 12 <4+312) e &
LT R4 YA BVHFNTTES At HER
s s T ANElsE :15. -10- . — KHHEE (E)
1ol s X2 29LIT R % 7 g (12115/22) 9-10-10 | 37.9 5 ?gss Ao
L VIWN=Fv—L B:x2a9vY92am BAR77—L4
= ok s 3 | RAS 1:15.5 10-8-9 [38.6| — 9 454 | MR (AAE)
1112 TaTILAE—R 253.0 (1 1/2) +6) J?L:Elffﬁﬁﬁ
LiR—NFZXHLF— B:TIATLRED— =R77—4
. SEH . G — EAEE (W)
M MEEELEES 4 3 s 1.(166).8 4-5-7 | 40.3 1 (ﬁi) LG
LAY T =7 —FK—F B:EEFTANEF( 7T Bk BA
® I —F—EBIERL
13—7—
Aol=5r= 5,1,6,(4,10),3,2,9,8,12,7,11
3a—+— |[5,6,(1,10),4,3,9,12,2,8,7,11
43—+ — 5,6,1,10,3,9,4,2,12,8,7,11
[ RN
B OB 5 640M 714K 5-6 860M e & 5-5 2,400M &R 5-6-9 2,280
8 B 5 240M 5-9 790 B 55 2,260 JEH 5-6-9 16,750
6 1704 6-9 390M B E 5-6 2,320M
9 200M B H 5-6 4,980M

ABICOVWTRDTEEERROODE. TR LIV,




